Приложение № 1

Карточка № 1

Вариант 1.

Решите уравнения:

А1.                          [image: image2.png]


 .

1) 9;          2) 7;                 3) 7,9;           4) нет решений.

А2.                           .

1) 12;         2) нет решений;     3) -20;       4) 12;  -20.

А3.                           9 5х+1 =   ( [image: image4.png]


 ) 6-4х   .
1) - [image: image6.png]


 ;     2) - [image: image8.png]


  ;         3)    [image: image10.png]


   ;                       4)   [image: image12.png]


  .

1) А4.                            | 8x – 3 | = 19.
2)    - [image: image14.png]I



     ;       2)  -2;  [image: image16.png]I



  ;        3)   -[image: image18.png]I



; 2 ;           4) [image: image20.png]I



.

А5.                           -2cos x = [image: image22.png]


.

1) [image: image24.png]KEZ



 ;  2) [image: image26.png]I+

k!

+ 21K,

KEZ



;   3) [image: image28.png]KEZ



 ,                                        4) [image: image30.png](1)L kez




А6.                            [image: image32.png]log,x — 2)



 .

1) 10 ;             2) 8 ;               3) 4 ;               4) 11.

Вариант 2.
Решите уравнения:

А1.                          [image: image34.png]


 .

1) 29;                   2) 3;                         3) -3;                        4) нет решений.

А2.                           .

1) -3;  1;               2) -1;                        3) 3;                          4) 3;  -1.

А3.                           32·8 2х+1 =   4 3-2х   .
1) – 0,1 ;             2) – 0,2  ;            3)    1,4   ;                    4)  1,7  .

А4.                            | 9x + 1 | - 15 = 0.

1)   - [image: image36.png]


     ;  [image: image38.png]


                 2)   [image: image40.png]


  ;                   3)  [image: image42.png]


; - [image: image44.png]


 ;             4)  - [image: image46.png]


.

А5.                                     sin [image: image48.png]| e



 = [image: image50.png]


.

1)   [image: image52.png]nez



 ;                                  2) [image: image54.png](-0l +stn, mez



;  
3) [image: image56.png]nez



 ,                                        4) [image: image58.png](—1)”¥um, nel.




А6.                            [image: image60.png]log,x — 3)



 .
1) 7 ;                         2) 3 ;                          3) 11 ;                            4) 4.

Приложение 2

Карточка № 2
Вариант 1

1. [image: image62.png]lgJsx -6 =lgyxi-2



  
2. [image: image64.png]2 -X-4X-442¥ =0




3. [image: image66.png]sin[<3x+g]> 1-x2=0




4. [image: image68.png]



5. [image: image70.png]1oX - 1oXts = 19



 
Вариант 2

1. [image: image72.png](x]2 — 1) |6 —5x —x2 =0




2. [image: image74.png]Cos2mrx = 1 — 2x




3. [image: image76.png]



4. [image: image78.png]X -1 = 3-10e.x



 
Вариант 3

1. [image: image80.png]log,ix1= 5-x2



  
2. [image: image82.png]log, x -log,s=24 -x




3. [image: image84.png]1 -40-2*+ 256 = o




4. [image: image86.png]logg@x- 3= log, (3x)




5. [image: image88.png](VZ-x-4)([5x-1-2)x2=0



 

Вариант 4

1. [image: image90.png]


  
2. [image: image92.png]x:-16 = 8-x




3. [image: image94.png]VX -sinx-log,x =0




4. [image: image96.png]X:-4X + 4= 5J2-X




5. [image: image98.png]6 - 4Xtz 4ox+1 = 5y



 
Приложение 3
Карточка № 3
Вариант 1

1. Решите уравнение:

a) [image: image100.png]1,5iax {3 cos.





b) [image: image102.png]


 .
2. Решите уравнение  , используя функционально-графический метод.

Вариант 2

1. Решите уравнение:

a) [image: image104.png]


 .
2. Решите уравнение [image: image106.png]G

=-5



 , используя функционально-графический метод.

Вариант 3

1. Решите уравнение:

a) [image: image108.png]



b) [image: image110.png]


 .
2. Решите уравнение  , используя функционально-графический метод.

Вариант 4

1. Решите уравнение:

a) [image: image112.png]



b) [image: image114.png]JX:F 2x + 3




 .

2. Решите уравнение  , используя функционально-графический метод.

Приложение 4
Оценочный лист

Фамилия_____________________________________

	Этапы
	Количество баллов

	I этап 
	

	II этап
	

	III этап
	


Итоги:

13 – 16 баллов – «3»;

17 – 20 баллов – «4»;

21 – 22 балла – «5».

ОЦЕНКА:____________________

Приложение 5

Графики функций


[image: image1.png]



[image: image115.jpg]4 y=logix, a>1





[image: image116.jpg]


[image: image117.png]L3l

vl





[image: image118.png]by





